

Ф.И. _____

УКАЖИ ПОРЯДОК ДЕЙСТВИЙ И РЕШИ

$$(9 - 5) + 7 = \underline{\hspace{2cm}}$$

$$(15 + 5) - 13 = \underline{\hspace{2cm}}$$

$$40 - (30 - 15) = \underline{\hspace{2cm}}$$

$$10 + (7 + 13) - 1 = \underline{\hspace{2cm}}$$

$$47 - (28 + 12) = \underline{\hspace{2cm}}$$

$$(30 - 10) + 2 = \underline{\hspace{2cm}}$$



Ф.И. _____

УКАЖИ ПОРЯДОК ДЕЙСТВИЙ И РЕШИ

$$(9 - 5) + 7 = \underline{\hspace{2cm}}$$

$$(15 + 5) - 13 = \underline{\hspace{2cm}}$$

$$40 - (30 - 15) = \underline{\hspace{2cm}}$$

$$10 + (7 + 13) - 1 = \underline{\hspace{2cm}}$$

$$47 - (28 + 12) = \underline{\hspace{2cm}}$$

$$(30 - 10) + 2 = \underline{\hspace{2cm}}$$



Ф.И. _____

УКАЖИ ПОРЯДОК ДЕЙСТВИЙ И РЕШИ

$$(9 - 5) + 7 = \underline{\hspace{2cm}}$$

$$(15 + 5) - 13 = \underline{\hspace{2cm}}$$

$$40 - (30 - 15) = \underline{\hspace{2cm}}$$

$$10 + (7 + 13) - 1 = \underline{\hspace{2cm}}$$

$$47 - (28 + 12) = \underline{\hspace{2cm}}$$

$$(30 - 10) + 2 = \underline{\hspace{2cm}}$$



Ф.И. _____

УКАЖИ ПОРЯДОК ДЕЙСТВИЙ И РЕШИ

$$(9 - 5) + 7 = \underline{\hspace{2cm}}$$

$$(15 + 5) - 13 = \underline{\hspace{2cm}}$$

$$40 - (30 - 15) = \underline{\hspace{2cm}}$$

$$10 + (7 + 13) - 1 = \underline{\hspace{2cm}}$$

$$47 - (28 + 12) = \underline{\hspace{2cm}}$$

$$(30 - 10) + 2 = \underline{\hspace{2cm}}$$



Ф.И. _____

УКАЖИ ПОРЯДОК ДЕЙСТВИЙ И РЕШИ

$$(9 - 5) + 7 = \underline{\hspace{2cm}}$$

$$(15 + 5) - 13 = \underline{\hspace{2cm}}$$

$$40 - (30 - 15) = \underline{\hspace{2cm}}$$

$$10 + (7 + 13) - 1 = \underline{\hspace{2cm}}$$

$$47 - (28 + 12) = \underline{\hspace{2cm}}$$

$$(30 - 10) + 2 = \underline{\hspace{2cm}}$$



Ф.И. _____

УКАЖИ ПОРЯДОК ДЕЙСТВИЙ И РЕШИ

$$(9 - 5) + 7 = \underline{\hspace{2cm}}$$

$$(15 + 5) - 13 = \underline{\hspace{2cm}}$$

$$40 - (30 - 15) = \underline{\hspace{2cm}}$$

$$10 + (7 + 13) - 1 = \underline{\hspace{2cm}}$$

$$47 - (28 + 12) = \underline{\hspace{2cm}}$$

$$(30 - 10) + 2 = \underline{\hspace{2cm}}$$



Ф.И. _____

УКАЖИ ПОРЯДОК ДЕЙСТВИЙ И РЕШИ

$$(9 - 5) + 7 = \underline{\hspace{2cm}}$$

$$(15 + 5) - 13 = \underline{\hspace{2cm}}$$

$$40 - (30 - 15) = \underline{\hspace{2cm}}$$

$$10 + (7 + 13) - 1 = \underline{\hspace{2cm}}$$

$$47 - (28 + 12) = \underline{\hspace{2cm}}$$

$$(30 - 10) + 2 = \underline{\hspace{2cm}}$$



Ф.И. _____

УКАЖИ ПОРЯДОК ДЕЙСТВИЙ И РЕШИ

$$(9 - 5) + 7 = \underline{\hspace{2cm}}$$

$$(15 + 5) - 13 = \underline{\hspace{2cm}}$$

$$40 - (30 - 15) = \underline{\hspace{2cm}}$$

$$10 + (7 + 13) - 1 = \underline{\hspace{2cm}}$$

$$47 - (28 + 12) = \underline{\hspace{2cm}}$$

$$(30 - 10) + 2 = \underline{\hspace{2cm}}$$

